La division posée

4 9 3 71019 5 g A {‘.l 7

Le quotient est : ______ Le quotient est : ______ Le quotient est = ______

leresteest : ____ <12 leresteest : ____ <5 leresteest : ____<7

4 071 divisé par 9 3 360 divisé par 6
Le quotient est : _____ leresteest : ___<__ Le quotient est : _____ leresteest : ___<___
Table de 12 Table de 25
3.3 6 12 5 8 3 2 5 et —=
. SR 12x1= 25x1=

12x2= 25x2=
12x3= 2hx3=
12x4= 2hxd=
12x5= 25x 5=
12x6= 25x b=
12x7= 25xT=

Le quotient est : ______ Le quotient est : ______ 12x8= 25x8=

leresteest : ____< 12 leresteest : ____< 25 19¢9 = 25 % 9 =




